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(SECTION A - READING) (10) 

 I. Read the following passage and answer the questions given below. 

   The Khasi tribes of India are the earliest migrants from Myanmar. They follow typical Indian 

tribal culture which is distinctive in its own way. This tribal community gives females priority. 

The property is passed from the mother to the youngest daughter. The marriage follows a culture 

where the groom has to live in the bride’s home after marriage. These Indian tribes speak Khasi 

which is an Austro - Asiatic language. Men wear long, sleeveless coats without collar known as 

Jymphong. Headgears or turbans are also popular among men. Women of Khasi tribes are very 

fond of wearing jewellery and earrings. Christianity is their main religion. Rice is their staple 

food. They also prefer fish and meat and occasionally drink rice beer. 

  1. Write one peculiar feature of Khasi culture. (1) 

  2. How is Khasi marriage custom different from ours? (1) 

  3. Which language do they speak? (1) 

  4. Find a word from the passage which means ‘a person that travels to a different country or 

place’. (1) 

  5. How does a Khasi man dress? (2) 

 II. Read the following poem and answer the questions given below. 

   Another day, another shift, 

 he’s out the door again. 

 Lord guide his footsteps, hold him tightly, 

 safely in your hand. 

 Keep him secure as he responds 

 with engine lights ablaze 

 protect him from the battlefield 

 of fires he’ll engage. 

 Preserve and guard this fireman, 

 Lord shield him from the flame, 

 and bring him back securely, 

 safely, home to us again. 

  6. What is the job of the man in this poem? (1) 

  7. Who is praying for the safe return of the man? (1) 

  8. What does the word battlefield refer to? (1) 

  9. Find out a word from the poem which means ‘burning fiercely’. (1) 

(SECTION B - WRITING) (10) 

 III. 10. Write a letter to your friend about Onam celebrations. (5) 

  11. You are studying in St. John’s Public School, Delhi. Your school is planning to celebrate 

environmental day by planting trees on the campus. There will also be competitions like 

essay writing, poster designing and quiz. As the nature club secretary of your school, write 

a notice informing the students about the event. (5) 



(SECTION C - GRAMMAR) (15) 

 IV. Fill in the blanks with the appropriate forms of verb given in the bracket. (½×8=4) 

  12. I …………… a number of detective novels when I was a child. (read) 

  13. Last year they ……………….. a high wall around the house. (build) 

  14. I ………………. the assignment before the bell rang. (finish) 

  15. Jane …………. music class every Saturday. (attend) 

  16. Naina …………. black dress for today’s function. (wear) 

 V. Rewrite the sentences using negative form. (1×3=3) 

  17. He is playing golf now.   

  18. She goes to church every day. 

  19. They had begun practising.  

 VI. Transform the sentences into interrogative form. (1×3=3) 

  20. He is an English teacher.   

  21. Raju spoke to Vishnu yesterday. 

  22. Mira has gone to Dubai. 

 VII. Rewrite the paragraph using past tense of the verbs given in brackets. (4) 

  This year our school (show) excellent result in the Class XII Board Examination. One hundred 

twenty two students appeared for the examination. All of them (do) well. One hundred ten 

students (secure) a first class. No student (secure) less than 40% marks. Our performance in 

Mathematics (be) the best. Sixty-five students (get) a distinction in Mathematics. Neena Tom 

(win) a gold medal for topper. Our principal (congratulate) her. 

(SECTION D - LITERATURE) (15) 

 VIII. Fill in the blanks using words from bracket. (5×1=5) 

  (miracle, bated breath, debut, stance, milestones) 

  28. A cat sits on its folded hind legs and keep it front legs together when it  

sits in hunting …………… . 

  29. We watched with ……………….. when the army men were trying to pull out the child who 

had fallen to eighty-foot ditch. 

  30. It is difficult to believe that it was the girl’s ………………. because she danced so gracefully. 

  31. It is nothing but a ……………….. that the child was still alive. 

  32. There have been so many awesome …………. in Saina Nehwal’s career. 

 IX. Answer the following. 

  33. Why did the narrator fly back to Japan without completing his trip? (1) 

  34. List any three tourist attractions of Bangkok. (1)  

  35. What was lurking behind the rock pools in the poem ‘Friendly Fauna’? (1) 

  36. How did Bindra start his career? (1) 

  37. When and where did Sachin Tendulkar score his hundredth century? (2) 

  38. What are the qualities required for a good sports man? Elaborate on the basis of the 

chapter ‘The shooting star’? (4) 
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BASIC SCIENCE 

PHYSICS 

Fill in the blanks. (½ mark each) (4×½=2) 

 1. In _________ motion whole body moves about an axis. 

 2. Beating of our heart is _________ motion. 

 3. _____________ object cast no shadow. 

 4. The object that allow the light to pass partially are called ________ . 

Answer the following. 

 5. What are the standard unit of length and time? (1) 

 6. The length of a wall is 5 metre. Express it into cm and mm. (1) 

 7. Name the type of motions executed by the motion of the Earth around the Sun. (1) 

 8. Define reflection. (1) 

 9. State any two precautions to be observed while measuring the length with the help  

of a metre scale. (2) 

 10. Write any two difference between a shadow of a pencil box and it’s reflected image. (2) 

 11. Explain the two types of motion executed by motion of  

a ball on the ground. (2) 

 12. Write an activity to show that light travels in a straight line.(3) 

CHEMISTRY 

Fill in the blanks. (½ mark each) (5×½=2½) 

 1. Materials which are easily compressed are called ______ . 

 2. Some materials lose their lustre and appear dull due to the action of ______ and ______ on them. 

 3. Mustard oil is ______ in water. 

 4. Substances kept in a cardboard container is not visible from outside as cardboard is a ______ 

material. 

 5. The method to separate two liquids that do not mix with each other is ______ . 

Name the process. (½ mark each) (4×½=2) 

 6. Butter is separated from milk or curd. 

 7. Seeds of fruits are separated from its juice. 

 8. Salt is obtained from seawater. 

 9. Wheat flour is separated from bran and other impurities. 

Answer the following. 

 10. Write the different methods used for threshing. (1½) 

 11. What is meant by saturated solution? How can we know that it is saturated? (2) 

 12. Define: 

a) Condensation 

b) Handpicking (2) 

 13. Using a suitable example, explain how ‘sieving’ method is used to separate components  

of a mixture. (2) 

 14. Does water dissolve equal amounts of different soluble substances to become saturated?  

Write the activity to prove your result. (3) 



BIOLOGY 

Qns. 1-4. Name the following. (½ mark each) (4×½=2) 

 1. The process of making fabrics by arranging two sets of yarns. 

 2. The vitamin required for good eye sight. 

 3. Name a form of unstitched cloth used by woman in India. 

 4. Two simple devices used for spinning. 

Qns. 5-7. Write short notes on. (1 mark each) (3×1=3) 

 5. Balanced diet. 

 6. Knitting. 

 7. Ingredients. 

Qns. 8 & 9. Give reason. (1½ mark each) (2×1½=3) 

 8. A hardworking labourer needs more fat and carbohydrate than those who are working in the 

office. 

 9. Overcooking and deep frying of food should be avoided. 

Qns. 10 -15. Answer the following. (2 marks each) (6×2=12) 

 10. What is roughage? What is its importance in our body? 

 11. What are deficiency diseases? Name two deficiency diseases and mention their cause. 

 12. Name the steps involved in converting cotton bolls growing on plants to cotton clothes. 

 13. Why should we drink 6-8 glasses of water every day? 

 14. Write the ingredients used in any one food item and write their source. 

 15. How is jute fibre made from jute plants? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



PLACID VIDYA VIHAR SR. SEC. SCHOOL 
CHETHIPUZHA 

SUMMATIVE ASSESSMENT - I - 2016-’17 

STD: VI      Time: 2 hrs.   Max. Marks: 50 

SOCIAL SCIENCE 
General Instructions. 

 a) This question paper consists of 18 questions. 

 b) Questions from serial number 1 to 6 should be answered in one or two sentences. 

 c) Answers of 3 marks questions should not exceed 60 words each. 

 d) Answers of 5 marks question should not exceed 120 words each. 

 1. What is universal adult franchise? (1) 

 2. Why is the Earth called Blue planet? (1) 

 3. Distinguish between Sabha and Samithi. (1) 

 4. Explain briefly about stereotype. (1) 

 5. Define Revolution. (1) 

 6. What is secular literature? (1) 

 7. Explain the features of democratic government. (3) 

 8. What do you know about the drainage system of the  

Indus valley civilization? (3) 

 9. How do symbols help in reading maps? (3) 

 10. What are the Vedas? What do they contain? (3) 

 11. Explain the diversity of India. (3) 

 12. Write a short note on leap year. (3) 

 13. How are maps more helpful than a globe? (3) 

 14. Explain the levels of government. (3) 

 15. Write a short note on Rig-Veda, Megaliths. (5) 

 16. Briefly explain summer and winter solstice. (5) 

 17. What are the differences between democracy and monarchy? (5) 

 18. Write the techniques of tool making. (5) 
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MATHEMATICS 

I. Questions 1 - 6 carry 1 mark each.   [1×6=6] 

  Fill in the blanks. 

 1. 10 million = ______ crore. 

 2. The predecessor of 1 lakh is ______ . 

 3. The number 85642 rounded off to the nearest thousand is ______. 

 4. A triangle with all its sides of unequal lengths is called a ______ triangle. 

 5. An angle greater than 180° and less than a complete angle is called _____. 

 6. L.C.M of 10, 15 and 20 is ______. 

II. Questions 7 - 12 carry ½ mark each.   [½×6=3] 

  State whether the given statements are true or false. 

 7. LXXV is greater than LXXIV. 

 8. The number 58963 rounded off to the nearest hundred is 58900. 

 9. The whole number 1 has no predecessor. 

 10. Numbers having more than two factors are called prime numbers. 

 11. 5  0 is not defined. 

 12. 2 is the only prime number which is even. 

III. Questions 13 - 19 carry 2 marks each. [2×7=14] 

 13. Insert commas and write the names according to both Indian and International system of numeration. 

  7452285 

 14. Find the H.C.F of  70, 105 and 175. 

 15. Simplify. 

  a) 108 × 55 + 108 × 45 

  b) 7132 × 105 – 7132 × 5 

 16. Name the vertices and the line segments in the figure. 

 

 17. In the figure 

 

 





  a) AOD is a/an __________ angle. 

  b) COA is a/an __________ angle. 

 18. Define. 

  a) Sector of a circle. 

  b) Perpendicular lines. 

 19. Find the sum by suitable rearrangements. 

  a) 737 + 305 + 263 

  b) 1562 + 353 + 438 + 647 

IV. Questions 20 - 24 carry 3 marks each.  [3×5=15] 

 20. Estimate the product 5981 × 4428 by rounding off each number to the nearest 

  a) tens 

  b) hundreds 

 21. In the figure ‘O’ is the centre of the circle 

 

  a) Name all chords of the circle 

  b) Name two sectors 

  c) Name the smallest segment 

 22. Match the following. 

  a) Right angle (i) Equilateral triangle 

  b) Straight angle (ii) Right angled triangle 

  c) Obtuse angle (iii) th of a revolution 

  d) Triangle with 1 right angle (iv) Half a revolution 

  e) Triangle with 3 acute angles (v) Between  and  of a revolution 

  f) Triangle with all sides equal(vi) Acute angled triangle 

 23. A vendor supplies 32 litres of milk to a hotel in the morning and 68 litres of milk in the evening. If the 

milk costs Rs. 44 per litre, how much money is due to the vendor per day? 

 24. A florist has 36 tulips, 27 roses and 18 lilies to create bouquets. What is the largest number of bouquets he 

can make without having any flower left over? 

V. Questions 25 - 27 carry 4 marks each.  [4×3=12] 

 25. Using divisibility test, determine if 297144 is divisible by 6; by 8; by 9; by 11. 

 26. a) Find the difference between the greatest and the least number that can be written using each of the 

digits 8, 3, 6, 5, 2 only once.  

  b) Find the product 8739 × 102 using distributive property. 

 27. a) Find the prime factorisation of 1152.  

  b) Write in Roman Numerals. 

   (i) 97 (ii) 48 
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MALAYALAM 

 I. Xmsg sImSp-¯n-cn-¡p¶ KZy-`mKw hmbn¨tijw NphsSbpÅ tNmZy-§Ä¡v D¯csagp-Xp-I. 

  cmP-Xz-¯nsâ D¯-a-am-Xr-I, hntZ-io-b-cmb It¿-ä-¡msc ASn-t¨m-Sn¨ Hcp `c-Wm-[n-]³ F¶o 

\ne-I-fn-emWv hn{I-am-Zn-Xy³ kvacn-¡-s¸-Sp-¶-Xv. F¶mÂ At±-l-¯nsâ {]ikvXn \ne-\n-ev¡p-¶Xv Xsâ cmP-

[m-\n-bnse kmln-Xy-]-chpw kmwkv¡m-cn-I-hp-amb Xnf-¡-¯n-em-Wv. Gähpw {]kn-²-cmb Nne Fgp-¯p-Im-

scbpw Iem-Im-c-·m-scbpw Kmb-I-·m-tcbpw AhnsS Xm³ kw`-cn-¨p. Ahsc hn{Ia cmP-[m-\n-bnse \h-c-Xv\-

§Ä F¶mWv hnfn-¡p-¶-Xv. Xsâ {]P-IÄ¡p \· sN¿p-hm³ thïn Bß-Xym-K-¯n\p t]mepw X¿m-dm-bn-

cp¶p At±lw F¶-XmWv IY-IÄ. At±-l-¯nsâ HuZm-cy-hpw ]tcm-]-Im-c-]-c-Xbpw [oc-Xbpw Al-¦m-chpw 

kp{]-kn-²-§-fm-Wv. At±lw Hcp \Ã a\p-jy\pw Iem-]-cn-t]m-j-I-\p-am-sW¶v Icp-X-s¸-«-Xp-sIm-ïmWv, apJy-

ambn At±-l-¯n\v Cu P\-{]n-bX ssIh-¶-Xv. hn{I-am-Zn-Xysâ \maw Hcp {]Xn-cq-]hpw _ncp-Z-hp-ambn¯oÀ¶p. 

]nÂ¡m-es¯ AkwJyw `c-Wm-[n-Im-cn-IÄ AXv X§-fpsS t]cn-t\mSv Iq«n-t¨À¯p. A§s\ Ncn-{X-¯nÂ 

At\Iw hn{I-am-Zn-Xy-·m-sc-¡p-dn¨v {]kvXm-hn-¡m-\n-S-bm-bn. 

tNmZy-§Ä. 

 1. hn{I-am-Zn-Xysâ P\-{]n-b-Xbv¡v Imc-W-sa v́?  

 2. Bsc-sb-Ãm-amWv hn{I-a-cm-P-[m-\n-bnse ‘\h-c-Xv\-§Ä’ F¶p hnfn-¨p-t]m-¶Xv?  

 3. hn{I-am-Zn-Xy³ GXp-\n-e-bn-emWv kvacn-¡-s¸-Sp-¶Xv?  

 4. -]nÂ¡m-e¯v `c-Wm-[n-Im-cn-IÄ X§-fpsS t]cn-t\mSv ‘hn{I-am-Zn-Xy³’ F¶ \maw Iq«n-t¨À¡m³  

Imc-W-sa v́?  

 5. -KZy-`m-K-¯n\v DNn-X-amb Xe-s¡«v Fgp-Xp-I.   (1×5=5) 

II. {_mbv¡-änÂ \n¶pw icn-bp¯cw sXc-sª-Sp-s¯-gp-Xp-I. (½×5=2½) 

 1. A\p-Ps\ DÕm-ln-¸n-¡p-tam-a-emÄ þ ChnsS A\p-P³ F¶p hnti-jn-¸n-¡p-¶-Xmsc? 

  (cma-s\, A_p-hn-s\, e£va-Ws\) 

 2. kzman hnth-Im-\-µsâ Kpcp Bcv? 

  (cm-a-Ir-jvW]nÅ, {iocm-a³, {iocm-a-Ir-jvW-]-c-a-lw-k³) 

 3. `qX-Ime {Inb-tbXv? 

  (hcpw, Xn¶p-¶p, sXmgpXp) 

 4. ‘I¶n-s¡mbv¯v’ BcpsS IrXn-bmWv? 

  (sh®n-¡p-fw tKm]m-e-Ip-dp¸v, sshtem-¸n-Ån {io[-c-ta-t\m³, ssh¡w apl-½Zv _joÀ) 

 5. BZys¯ _ln-cm-Imi bm{Xn-I-\mcv? 

  (thmkvt¯m-¡v, bqdn KKm-dn³, AeIvkn KKm-dn³) 

III. AÀ°sagp-Xp-I. (½ amÀ¡p hoXw)   (½×4=2) 

 1. \qX\w 2. hnizw 

 3. Cfn-`yX 4. sImän 

IV. hn]-co-X-]Zsagp-Xp-I. (½ amÀ¡p hoXw)   (½×2=1) 

 1. ZrVw 2. A[nIw 

V. ]ncn-s¨-gpXpI. (½ amÀ¡p hoXw)    (½×2=1) 

 1. tXSn-tbmSn 2. At±-ls¯ 

VI. hn{K-lns¨gpXpI. (½ amÀ¡p hoXw)   (½×2=1) 

 1. Xo{h-civan 2. ao\-¨qSv 

VII. icn-bmb ]Zw FSps¯gpXpI. (½ amÀ¡p hoXw)  (½×2=1) 

 1. ]Ñm-¯m]w þ ]Ým-¯m]w 2. \nkmcw þ \nÊmcw 



VIII. tN-cpw-]Sn tNÀ¡pI. (½ amÀ¡p hoXw)   (½×4=2) 

 1. Nnc-Im-e-kz]v\w þ kzman hnth-Im-\-µ³  

 2. AP-kp-µcn  þ bqdn KKm-dn³ 

 3. am¼gw  þ ssh¡w apl-½Zv _joÀ 

 4. B[ym-ßnI ssNX\yw  þ sshtem-¸nÅn {io[-c-ta-t\m³ 

IX. amXrI t]mse FgpXpI. (½ amÀ¡p hoXw)   (½×2=1) 

  amXrI : tkm]-Nmcw þ D]-Nm-c-t¯m-Sp-IqSn 

 1. tkmt±iyw  

 2. tkmÂ¡WvTw 

X. AÀ°-hy-XymksagpXpI. (1 amÀ¡p hoXw)   (1×2=2) 

 1. A\ÀLw þ A\À°w 2. t\{Xw þ t\{Xn 

XI. ]cymb]Zsagp-Xp-I. (1 amÀ¡p hoXw)   (1×2=2) 

 1. kqcy³ 2. iÐw 

XII. \m\mÀ°sagp-Xp-I. (1 amÀ¡p hoXw)   (1×2=2) 

 1. `mKw 2. Bh-cWw 

XIII. hmIy-¯nÂ {]tbm-Kn-¡pI. (1 amÀ¡v)   (1) 

 1. ZrV-\n-Ýbw 

XIV. {Inb-I-fpsS Ime-cq-]-§Ä FgpXpI. (1 amÀ¡p hoXw) (1×2=2) 

 1. NmSn 2. ]Tn¨p 

XV. Hä hmIy-¯nÂ D¯csagpXpI. (1 amÀ¡p hoXw)  (1×5=5) 

 1. _ln-cm-Im-i¯p \n¶v t\m¡n-bmÂ `qan F§-s\-bmWv Zriy-am-hpI? 

 2. “AXp hmbn-¡p-t¼mÄ \½fpw A¯cw IpSpw-_-̄ n-emWv Pohn-¡p-¶-sX¶p tXm¶pw” GXv? 

 3. Bsc-bmWv ssZh-Ú-cmbn Ihn Iev]n-¨n-cn-¡p-¶Xv? 

 4. BwK-teb bphm-¡-fpsS {]I-S-\-§Ä GXp coXn-bn-em-bn-cp¶p? 

 5. Zmi-cYn Bcv? 

XVI. aqt¶m \mtem hmIy¯nÂ Ipd-bmsX D¯csagpXpI. (2×6=12) 

 1. “temI-¯n\p ap¶nÂ Xsâ `mhn Dd-¸n-¡p¶ kwKo-X-am-WtÃm AXv” GXv? bqdn¡v AsX-§s\  

A\p-`-h-s¸«p? 

 2. Fs´Ãmw ]d-ªmWv Pm\In e£va-Ws\ t{]mÕm-ln-¸n-¡p-¶Xv? 

 3. amXmhv sNmSn-¡m³ Imc-W-sa v́? 

 4. ip²-amb \Àa-¯nÂ s]mXn-ªmWv _joÀ kw`-h-§Ä Ah-X-cn-¸n-¡p-¶-Xv. \n§Ä Cu A`n-{]m-b-

t¯mSv tbmPn-¡p-¶ptïm? F´p-sImïv? 

 5. ‘am¼gw’ F¶ Ihn-X-bpsS CXn-hr¯w kz´w hmIy-¯n-se-gp-XpI? 

 6. hnti-jy-¯nsâ kz`m-h-a-\p-k-cn¨v t`Z-Is¯ F{X-bmbn Xncn¡mw? GsXÃmw? 

XVII. I¯v X¿mdm¡pI.     (3½) 

 1. ssh¡w apl-½Zv _jo-dnsâ t\mhÂ ‘iÐ-§Ä’ Hcp tIm¸n Ab-¨p-X-cWw F¶v Bh-iy-s¸«v  

{]km-[-I-cmb F¨v & kn ]»n-jnMv lukn\v Hcp I¯v X¿m-dm-¡p-I. 

XVIII. ]mT-]p-kvX-I-¯n-teXp t]mse ]qcn-¸n-¡pI   (4) 

 1. ‘HmaÂ ................................ 

.................................. amXncn’ 
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HINDI 

I. ÊnùB MÉB ¶É¤nùÉå Eäò +lÉÇ Ê±ÉJÉÉä:      [½×6=3] 

 (Eò) ºÉÖ®úÉJÉ (JÉ) EÖò±É (MÉ) UÖô]{ÉxÉ  

 (PÉ) EòÉ¢òÒ (Ró) ¯ûÊSÉ (SÉ) Ê´ÉEòÉºÉ 

II. nùÉä-nùÉä {ÉªÉÉÇªÉ´ÉÉSÉÒ ¶É¤nù Ê±ÉJÉÉä:     [1×3=3] 

 (Eò) Ê¨ÉjÉ  (JÉ) {É½þÉc÷ (MÉ) {ÉÖjÉ 

III. ÊnùB MÉB ¶É¤nùÉå Eäò Ê´É±ÉÉä¨ÉÉlÉÔ ¶É¤nù Ê±ÉJÉÉä:   [½×4=2] 

 (Eò) xÉäEòú  (JÉ) ºÉ®ú±É  

 (MÉ) EòÉ±ÉÉ (PÉ) =kÉ®ú 

IV. ´ÉÉCªÉÉÆ¶ÉÉå EäòÊ±ÉB BEò ¶É¤nù Ê±ÉJÉÉä:      [½×4=2] 

 (Eò) <ÊiÉ½þÉºÉ Eäò {ÉÚ´ÉÇ EòÉ EòÉ±É 

 (JÉ) nùÒ´ÉÉ®ú EòÒ EÄòMÉxÉÒ 

 (MÉ) SÉÚhÉÇ VÉèºÉä ´ÉºiÉÖ EòÉä ÊUôb÷EòxÉÉ 

 (PÉ) MÉ´ÉÇ Eò®úxÉä´ÉÉ±ÉÒ 

V. ÊxÉ¨xÉÊ±ÉÊJÉiÉ +ÆEòÉå EòÉä +IÉ®úÉå ¨Éå Ê±ÉJÉÉä :   [½×4=2] 

 (Eò) 20  (JÉ) 16 

 (MÉ) 9  (PÉ) 28 

VI. ¶É¤nù ªÉÖM¨É Eäò SÉÉ®ú =nùÉ½þ®úhÉ Ê±ÉJÉÉä*      [½×4=2] 

VII. xÉÒSÉä ÊnùB MÉB ¶É¤nùÉå ºÉä ={ÉºÉMÉÇ +±ÉMÉ Eò®úEäò ¨ÉÚ±É ¶É¤nù Ê±ÉJÉÉä:   [½×4=2] 

 (Eò) +{ÉÊ®úÊSÉiÉ (JÉ) +ºÉÆiÉÉä¹É 

 (MÉ) +ÊxÉSUôÉ (PÉ) +xÉÉ´É¶ªÉEò 

VIII. ÊxÉ¨xÉÊ±ÉÊJÉiÉ ÊGòªÉÉ+Éå Eäò ¦ÉÉ´É´ÉÉSÉEò ºÉÆYÉÉ Ê±ÉJÉÉä:    [½×4=2] 

 (Eò) ¨ÉÉ®úxÉÉ (JÉ) ºÉÒJÉxÉÉ 

 (MÉ) EòÉ]õxÉÉ (PÉ) ½þÉ®úxÉÉ 

IX. =ÊSÉiÉ |ÉiªÉªÉ VÉÉäc÷Eò®ú Ê´É¶Éä¹ÉhÉ ¤ÉxÉÉ+Éä:    [½×4=2] 

 (Eò) EòÒ¨ÉiÉ (JÉ) MÉÖ±ÉÉ¤É 

 (MÉ) {ÉÆVÉÉ¤É (PÉ) VÉÆMÉ±É 

X. ÊnùB MÉB ´ÉÉCªÉÉå ºÉä ®úÒÊiÉ´ÉÉSÉEò ÊGòªÉÉ Ê´É¶Éä¹ÉhÉ SÉÖxÉEò®ú Ê±ÉJÉÉä:   [½×4=2] 

 (Eò) +ÉVÉ +SÉÉxÉEò Æ̀öb÷ ¤Égø MÉ<Ç* 

 (JÉ) ]õÉì¨ÉÒ ¡ÖòiÉÔ ºÉä SÉÉä®ú {É®ú ZÉ{É]õÉ* 

 (MÉ) ºÉÉäxÉÉ±ÉÒ VÉ±nùÒ-VÉ±nùÒ JÉÉxÉÉ JÉÉxÉä ±ÉMÉÒ* 

 (PÉ) MÉånù ±ÉÖføEòiÉÒ ½Öþ<Ç ZÉÉÊc÷ªÉÉå ¨Éå SÉ±ÉÒ MÉ<Ç* 



XI. xÉÒSÉä ÊnùB MÉB JÉÉ±ÉÒ ºlÉÉxÉ ¨Éå BEò-BEò Ê´É¶Éä¹ÉhÉ +Éè®ú VÉÉäc÷Eò®ú Ê±ÉJÉÉä* [1×2=2] 

 (Eò) ------------ ¨ÉÉä®úÉå´ÉÉ±ÉÉ ¤ÉÉMÉ  

 (JÉ) ---------------- {Éäc÷Éå´ÉÉ±ÉÉ PÉ®ú 

XII. ‘|É’ ={ÉºÉMÉÇ VÉÉäc÷Eò®ú nùÉä ¶É¤nù Ê±ÉJÉÉä*    [1×2=2] 

XIII. JÉÉ±ÉÒ ºlÉÉxÉÉå ¨Éå ÊnùB MÉB ¨ÉÉ{ÉiÉÉä±É Eäò =ÊSÉiÉ ¶É¤nù UôÉÄ]õEò®ú Ê±ÉJÉÉä* [½×4=2] 

  (¨ÉÒ]õ®ú, ]ÅõEò, SÉ¨¨ÉSÉ, Ê±É]õ®ú)  

 (Eò) BEò ---------------- nÚùvÉ 

 (JÉ) iÉÒxÉ ------------ iÉä±É 

 (MÉ) BEò ---------------- ®äúiÉ 

 (PÉ) Uô½þ ----------------- Eò{Éb÷É 

XIV. xÉÒSÉä ÊnùB MÉB ´ÉÉCªÉÉå ºÉä {ÉÖ¯û¹É´ÉÉSÉEò ºÉ´ÉÇxÉÉ¨É SÉÖxÉEò®ú ¦Éänù Ê±ÉJÉÉä* [1×2=2] 

 (Eò) ºEÚò±É ºÉä +É{É EòÉä nùÉä ÊnùxÉ EòÒ UÖô]Âõ]õÒ Ê¨É±ÉäMÉÒ* 

 (JÉ) ´ÉÉ½þ! iÉÖ¨ÉxÉä iÉÉä JÉÚ¤É UôEòÉªÉÉ* 

XV. ´ÉÉCªÉÉå ¨Éå |ÉªÉÉäMÉ Eò®úÉä:     [1×2=2] 

 (Eò) PÉ¤É®úÉEò®ú (JÉ) {ÉgøEò®ú 

XVI. {Ét {ÉÚ®úÉ EòÒÊVÉB*  (|ÉlÉ¨É +É`ö {ÉÆÎCiÉªÉÉÄ)   [4] 

  ´É½þ ÊSÉÊc÷ªÉÉþ ............................. 

................... VÉÉä 

XVII. BEò - BEò ´ÉÉCªÉ ¨Éå =kÉ®ú Ê±ÉJÉÉä*     [1×4=4] 

 (Eò) EÞò¹hÉÉ ºÉÉä¤ÉiÉÒ EòÉä SÉ¶¨ÉÉ CªÉÉå ±ÉMÉÉxÉÉ {Éc÷É? 

 (JÉ) ‘+É{É {É½þxÉä ½ÖþB ½éþ EÖò±É +ÉEòÉ¶É’ Eäò ¨ÉÉvªÉ¨É ºÉä ±Éc÷EòÒ CªÉÉ Eò½þxÉÉ SÉÉ½þiÉÒ ½èþ? 

 (MÉ) +IÉ®úÉå EòÒ JÉÉäVÉ EòÉ ÊºÉ±ÉÊºÉ±ÉÉ Eò¤É ¶ÉÖ¯û ½Öþ+É? 

 (PÉ) ‘´É½þ ÊSÉÊb÷ªÉÉ VÉÉä’ EòÊ´ÉiÉÉ Eäò +ÉvÉÉ®ú {É®ú ¤ÉiÉÉ+Éä ÊEò ÊSÉÊc÷ªÉÉ EòÉä ÊEòxÉ-ÊEòxÉ SÉÒWÉÉä  

ºÉä {ªÉÉ®ú ½éþ?  

XVIII. ÊxÉ¨xÉÊ±ÉÊJÉiÉ |É¶xÉÉå Eäò =kÉ®ú Ê±ÉÊJÉB:   [2×5=10] 

 (Eò) {ÉÉ`ö ¨Éå BäºÉÉ CªÉÉå Eò½þÉ MÉªÉÉ ½èþ ÊEò +IÉ®úÉå Eäò ºÉÉlÉ BEò xÉB ªÉÖMÉ EòÒ ¶ÉÖ¯û+ÉiÉ ½Öþ<Ç? 

 (JÉ) +Æb÷Éå Eäò ¤ÉÉ®äú ¨Éå Eäò¶É´É +Éè®ú ¶ªÉÉ¨ÉÉ Eäò ¨ÉxÉ ¨Éå ÊEòºÉ iÉ®ú½þ Eäò ºÉ´ÉÉ±É =`öiÉä lÉä? 

 (MÉ) iÉÖ¨½åþ ¤ÉiÉÉ>ÄðMÉÒ ÊEò ½þ¨ÉÉ®äú ºÉ¨ÉªÉ +Éè®ú iÉÖ¨½þÉ®äú ºÉ¨ÉªÉ ¨Éå ÊEòiÉxÉÒ nÚù®úÒ ½þÉä SÉÖEòÒ ½èþ* <ºÉ ¤ÉÉiÉ Eäò Ê±ÉB ±ÉäÊJÉEòÉ CªÉÉ-CªÉÉ =nùÉ½þ®úhÉ näùiÉÒ 

½èþ? 

 (PÉ) Eäò¶É´É +Éè®ú ¶ªÉÉ¨ÉÉ xÉä ÊSÉÊc÷ªÉÉ Eäò +Æc÷Éå EòÒ ®úIÉÉ EòÒ ªÉÉ xÉÉnùÉxÉÒ? 

 (Ró) +É¶ÉªÉ º{É¹]õ Eò®úÉä- 

  ®úºÉ =Äbä÷±ÉEò®ú MÉÉ ±ÉäiÉÒ ½èþ* 


